Synchro level 1		Level of Team:		1	
_	Inclusive Skating for Genes International and British Championships	Support		L	
Competition:		required	None/Off-Ice/On-ice/Other		
Team:	Jessica Jepps Eloise Carruthers	Notes on requir	ed support:		
	Synchro Group (2 to 4 skaters)				
Number of		For ability			
Skaters in team	2	skaters			
(2-16)		WPI = 0			
Team details	Skater name	WPI %	Ability (Y)		
1	Jessica Jepps	19.00%			
2	Eloise Carruthers	20.00%			
3					
4					
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI	1			
				% Abilty skaters	
		19.50%	0.00%	(50% Max)	0.00%
ic		IJS Base	Technical	Grade of	Mark awarded
ی	Elements Permitted			Execution	
INCLUSIVE					
SKATING			For Official Use Only		l Use Only
Level 1					
Simal a			0.333	2.5	0.000
Circle		1	0.333	2.5	0.833
Chuniaht !!		1	0.222	2.6	0.866
Straight line		1	0.333	2.6	0.866
Cuantina		1	0.222	2.2	0.766
Creative		1	0.333	2.3	0.766
Total Technical Elements			Total judges so	ore for elements	2.465
Total Technical Elements		Factor	WPI	Jore for elements	2.403
Impairment Compensation (6 x WPI) / (WIP is average for group)		6	19.50%		1.170
Technical Skating Skills (Factor x Score)		1	19.50%	1.900	1.900
Artistic performance & Execution (Factor x Score)		1		1.800	1.800
A tistic periorilla			o for Day		
Total Score for Performance				7.34	

Synchro level 2		Level of Team:		2	
-	Inclusive Skating for Genes International and British Championships	Support		1	
Competition:	I : : : : : : : : : : : : : : : : : : :	required	None/Off-Ice/On-ice/Other		
		Notes on require			
ream		1			
	Synchro Group (2 to 4 skaters)				
	Syncino Group (2 to 4 skaters)	-			
Number of		For ability			
Skaters in team	2	skaters			
(2-16)		WPI = 0			
` '	Skater name	WPI %	Ability (Y)		
	Harriet-Evie Rooms		Ability (1)	200/	
		20.00%		20%	
	Isobei-Ami Rooms	20.00%		20%	
3					
4					
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI				
				% Abilty skaters	
		20.00%	0.00%	(50% Max)	0.00%
i.e		IJS Base	Technical	Grade of	Mark awarded
	Elements Permitted			Execution	
INCLUSIVE	Elements Permitted				
SKATING		For Officia	al Use Only	For Officia	l Use Only
Level 1	"				
Circle		1.5	0.5	2.9	1.450
Straight line		1.5	0.5	3	1.500
Creative		1.5	0.5	2.8	1.400
					1
Total Technical El	lements	_		ore for elements	4.350
		Factor 10	WPI		
. —	Impairment Compensation (6 x WPI) / (WIP is average for group)		20.00%		2.000
	Technical Skating Skills (Factor x Score)			2 700	3.700
Technical Skating		1		3.700	
Technical Skating	ance & Execution (Factor x Score)	1		3.900 formance	3.900

Synchro lev	el 1	Level of Team:		1	
•	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required	None/Off-Ice/On-ice/Other		
Team:	Lammas	Notes on requir			
	Synchro Group (2 to 4 skaters)	1			
	,	1			
				Ш	ı
Number of	_	For ability			
Skaters in team	4	skaters			
(2-16)		WPI = 0			
Team details	Skater name	WPI %	Ability (Y)		
	Smithurst	0.00%	У	0%	
	Smithurst	0.00%	У		
	Callum mills	31.00%		0%	
	Meg MacFarlane	42.00%		0%	
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI				
				% Abilty skaters	
		18.25%	50.00%	(50% Max)	12.50%
ic		IJS Base	Technical	Grade of	Mark awarded
ے ا	Elements Permitted			Execution	
INCLUSIVE	Licites contice				
SKATING		For Official Use Only		For Officia	l Use Only
Level 1					
				_	
Circle		1	0.333	2.5	0.833
			0.222	2.4	0.700
Straight line		1	0.333	2.4	0.799
Cuantina		4	0.222	2.2	0.722
Creative		1	0.333	2.2	0.733
Total Technical Elements			Total judges se	ore for elements	2.365
iotai reciniicai cienients		Factor	WPI	ore for elements	2.303
Impairment Compensation (6 x WPI) / (WIP is average for group)		6	18.25%		1.095
Technical Skating Skills (Factor x Score)		1	10.23%	1.900	1.900
Artistic nerforma	nce & Execution (Factor x Score)	1		2.200	2.200
A CISCLE PETIOTITIA	T		o for Don		
	<u></u>	otai Scor	e for Per	ormance	7.56

Synchro lev	vel 3	Level of Team:		3	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required	Nor	ne/Off-Ice/On-ice/O	Other
Team:	Sparkle	Notes on requir			
	Synchro Group (2 to 4 skaters)				
	27 2 2 2 2 7 7 2 2 2 2 2 2 2 2 2 2 2 2				
Number of		For ability			
Skaters in team	4	skaters			
(2-16)	7	WPI = 0			
` '	Skater name	WPI %	Ability (Y)		
	Harriet-Evie Rooms	20.00%	/ Willey (1)	20%	
	Isobel-Ami Rooms	20.00%		20%	
	Jenny Lee	24.00%		24%	
	Hannah Lee	17.00%		17%	
5					
6		1			
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
	Average team WPI				
				% Abilty skaters	
		20.25%	0.00%	(50% Max)	0.00%
	Synchro Super Team (11 to 16 skaters)				
·-		IJS Base	Technical	Grade of	Mark awarded
. 15	el a partir l			Execution	
INCLUSIVE	Elements Permitted				
SKATING		For Official Use Only For Official Use Only			l Use Only
Level 1					,
Circle		3	1	3.8	3.800
Straight line		3	1	3.8	3.800
Creative		3	1	3.9	3.900
	ements		Total judges s	core for elements	11.500
Total Technical El		Factor	WPI		
		Factor			
	pensation (6 x WPI) / (WIP is average for group)	18	20.25%		3.645
Impairment Com Technical Skating	Skills (Factor x Score)	18 1.5		4.000	6.000
Impairment Com Technical Skating	, Skills (Factor x Score) ance & Execution (Factor x Score)	18 1.5 1.5	20.25%	4.000 4.300 formance	